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：
：

𝑁0

𝐻1 𝑁1 = 𝑁0 ∗ 𝑒
−𝑡1/𝜏

𝐻2 𝑁2 = 𝑁0 ∗ 𝑒
−𝑡2/𝜏

𝑡=𝑡2−𝑡1
𝑁2 = 𝑁1 ∗ 𝑒

−𝑡/𝜏

𝑁(𝑡) = 𝑁0 ∗ 𝑒
−𝑡/𝜏

⟹

𝑁1 𝑁1′

𝑁2′ 𝑁2

⟹

𝑁1′ = 𝑅0 ∗ 𝑁1

𝑁2 = 𝑅0
−1𝑁2′

𝑅0

𝐻1

𝐻2

𝐻1

𝐻2
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𝑠𝑒𝑐𝑜𝑛𝑑−1 𝑚𝑖𝑛𝑢𝑡𝑒−1

𝐻1 ±

𝐻2 ±

⟹  
𝑁1 = 231454

𝑁2′ = 340180
⇒  

𝑁1 = 231454

𝑁2 = 𝑅0
−1𝑁2′ = 226786

𝑂𝑟  
𝑁1′ = 𝑅0 ∗ 𝑁1 = 347181

𝑁2′ = 340180

Δ𝐻 = 𝐻1 −𝐻2 = 1391𝑚 𝑁0

𝐻1 𝑁1 = 𝑁0 ∗ 𝑒
−𝑡1/𝜏

𝐻2 𝑁2 = 𝑁0 ∗ 𝑒
−𝑡2/𝜏

𝑡=𝑡2−𝑡1
𝑁2 = 𝑁1 ∗ 𝑒

−𝑡/𝜏

𝑁(𝑡) = 𝑁0 ∗ 𝑒
−𝑡/𝜏

𝑡 = Δ𝐻/𝑐 ≈ 2.1𝜏

𝜏 = 2.2𝜇𝑠𝑁2 = 𝑁1 ∗ 𝑒
−𝑡/𝜏

 𝑁1 = 231454 ⇒ 𝑁2 = 𝑁1 ∗ 𝑒
−
𝑡
𝜏 ≈ 28343 ≈ 0.1 ∗ 226786

𝑁2 = 𝑅0
−1𝑁2′ = 226786

 𝑁1′ = 𝑅0 ∗ 𝑁1 = 347181 ⇒ 𝑁2′ = 𝑁1′ ∗ 𝑒
−
𝑡
𝜏 ≈ 42514 ≈ 0.12 ∗ 340180

𝑁2′ = 340180

𝑡 =
𝑡′

1 − (
𝑣
𝑐)

2

𝜏 = 2.2𝜇𝑠
𝑣 ≈ 0.99𝑐 ⟹ 𝑡 ≈ 10𝑡′⟹ 𝑡′ 2.1𝜏 ∗ 0.1 = 0.21𝜏

 𝑁1 = 231454 ⇒ 𝑁2 = 𝑁1 ∗ 𝑒
−
𝑡′

𝜏 ≈ 187613 ≈ 0.83 ∗ 226786

𝑁2 = 𝑅0
−1𝑁2′ = 226786

 𝑁1′ = 𝑅0 ∗ 𝑁1 = 347181 ⇒ 𝑁2′ = 𝑁1′ ∗ 𝑒
−
𝑡′
𝜏 ≈ 281419 ≈ 0.83 ∗ 340180

𝑁2′ = 340180

𝑁(𝑡) = 𝑁0 ∗ 𝑒
−𝑡/𝜏

𝑣 ≈ 0.9999𝑐 ⟹ 𝑡 ≈ 100𝑡′⟹ 𝑡′ 2.1𝜏 ∗ 0.01 = 0.021𝜏

 𝑁1 = 231454 ⇒ 𝑁2 = 𝑁1 ∗ 𝑒
−
𝑡′

𝜏 ≈ 226644 ≈ 226786

𝑁2 = 𝑅0
−1𝑁2′ = 226786

 𝑁1′ = 𝑅0 ∗ 𝑁1 = 347181 ⇒ 𝑁2′ = 𝑁1′ ∗ 𝑒
−
𝑡′
𝜏 ≈ 339966 ≈ 340180

𝑁2′ = 340180

𝑣 ≈ 0.999999𝑐 ⟹ 𝑡 ≈ 1000𝑡′⟹ 𝑡′ 2.1𝜏 ∗ 0.001 = 0.0021𝜏

 𝑁1 = 231454 ⇒ 𝑁2 = 𝑁1 ∗ 𝑒
−
𝑡′

𝜏 ≈ 230968 > 226786

𝑁2 = 𝑅0
−1𝑁2′ = 226786

 𝑁1′ = 𝑅0 ∗ 𝑁1 = 347181 ⇒ 𝑁2′ = 𝑁1′ ∗ 𝑒
−
𝑡′
𝜏 ≈ 346452 > 340180

𝑁2′ = 340180
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𝑣 ≈ 0.9999𝑐 𝜏

𝑠𝑒𝑐𝑜𝑛𝑑−1 𝑚𝑖𝑛𝑢𝑡𝑒−1

𝐻1 ±

𝐻2 ±


